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D 2.17x10 = 21.7
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® 0.217 x 100 = 21.7
@ 217x0.1 =21.7
® 2170 x 0.01 = 21.7
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7} 0.37x 2.5 = 0.925

. 2.1%x3.6 =756

th 0.4%x1.8=0.72

7. 15.12% 0.5 = 7.56

L. 5.76 X 0.125 = 0.72
. 23.125 % 0.04 = 0.925
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@® 389 x4.9=1906.1 @389 % 0.049 = 1.9061
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® 0.389 x 49 = 19.061

B ~

1
389 x 49 = 19061 2] oFHo] — A3}~
@ 389 x 9061 2] oFH o 1000ao}1

1 1
49X —— = —
389 x 49 x 1000 19061 x 1000

389 x 0.049 = 19.061




@® 5.93 x 1000 = 5930 @ 4.5x 10000 = 45000

@70.4 x 0.001 = 0.704 @ 150%0.01 = 1.5
® 32.4x0.1=3.24

B

@O &5Ho] Q2& 0 2 A ] SAAA
5930 o] Elong % 5tod 2= 4= 5.93 Yt}

@ &g3o] LEZSR Y A2 HAAA
45000 ©] B2 —’S—ﬁ}% T 45 9HH
® aZHo| gx o= A z}a #4214 0.7041 7}
e g Fotolzle 4 704 Yt

@ 2730l 9FKo2 & Z}ﬂ =AY AolEr
FHote 4+ 150 4yt
® &5Ho] AZK o= 2 A A 3.24 7}

Helenz HolozE £E 32444t
O

et Fge @y,




e 5 Fol 2549 ok Ae47 e shbs ofn AAA] 12
AlQ.
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@ 91.86x6.75 @8.48 % 5.25
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@D 6.8 x 3.27 = 22.236

@ 4.64 x 2.65 = 12.296

® 4.53 x 3.7 = 16.761
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® 2.76 x4.5
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® 6.4x4.7 @ 64x0.47 @640 x 0.47

@ 0.64 x 47 ® 0.064 x 470
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@D 6.4x4.7 =30.08

@ 64 x 0.47 = 30.08

® 640 x 0.47 = 300.8

@ 0.64 x 47 = 30.08

® 0.064 x 470 = 30.08
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